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Type-A
Autumn
French Revolution

The local time at the standard meridian
is the standard time of that country.

82Y2° E
First continental congress - 1774 -
Submitted petition to the king.

Second continental congress -
Elected George Washington as the
commander in chief of the continental
army.

Third continental congress - 1776 -
Declaration of independence.

Zero degree longitude.

Time is calculated worldwide based
on the Greenwich line.

So it is known as prime meridian

Colonies must be carried only British
ships or ships built in the British
coloures.

Sugar, Wool, cotton, tobacco -
exported to England

British stamp must be affixed on all
legal documents.

Tropic of Cancer to Equator
December 22 to March 21

Equator to Tropic of Cancer
Bolsheviks attained power in Russia
Land distributed to peasants

Union of Soviet Socialist Republic
was formed

Russia withdraw from the First World
War.

180° Longitude
Marked with broken lines
Pass through Bering Strait
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Autocratic rule of kings
Rulers were squanders

Society was divided into 3 estates
- Clergy, Nobles, Middle Class.

Third estates - Low social status

Voltaire, Rousseau and Montesque
- ideas

Apparent of position of the sun -
over the Equator - March 21 and
September 23 - Equinox

Length of day and night will be equal
- Equinoxes.

June 21 - Position of the sun over
the Tropic of Cancer - Summer
solstice

December 22 - Tropic of Capricom
- Winter solstice.

Type-B
Spring and Autumn season
John Locke
1.30 pm
French Revolution
American war of independence
Tropic of cancer
September 23
Tropic of Capricon
Equinox
Summer Solstice
Winter solstice
180° Longitude
Marked with broken lines
Pass through Bering Strait
Stimulated all the later revolutions

Spread the ideas of liberty, equality
and fraternity
Concept of people’s soveregnity

Helped the growth of the middle
class.
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Social Science (T-06E) contd

Colonies must be carried only British
ships or ships built in the British
coloures.

Sugar, Wool, cotton, tobacco -
exported to England

British stamp must be affixed on all
legal documents.

1917 March 8 - Women’s March

Provisional govt. of Alexander
Kerensky - February Revolution.

Lenin - Bolshevik Revolution -
October Revolution

New Constitution 1924
Union of Soviet Socialist Republic

The local time at the standard
meridian is the standard time of that
country.

8215°

Zero degree longitude.

Time is calculated worldwide based

on the Greenwich line.

So it is known as prime meridian
Type-C

George Washington

Spring Season

The member of the Third Estate

declared themselves as the National
Assembly of France

They swore not to leave until they
framed a constitution of France -
Tennis Court Oath

The time estimated at each place,
based on the position of the sun is
turned as the local time

Russia withdraw from the first world
war.

Land distributed to the peasants.
Formation of USSR

December 22 - Sun is vertically
above the Tropic of Capricorn
Winter solstice - Northern
Hemisphere

Shortest day and Longest night -
Northern Hemisphere

7.

Thomas paine - Common sense
Alexander Kerensky - February
Revolution

Rousseau - French Revolution

The local time at the prime meridian
is known Greenwich Mean Time
The local time at the standard
meridian is the standard Time.

Colonies must be carried only British
ships or ships built in the British
coloures.

Sugar, Wool, cotton, tobacco -
exported to England

British stamp must be affixed on all
legal documents.

First continental congress - 1774 -
Submitted petition to the king.

Second continental congress -
Elected George Washington as the
commander in chief of the continental
army.

Third continental congress - 1776 -
Declaration of independence.

180° Longitude
Marked with broken lines
Pass through Bering Strait

The travellers who cross the line from
the east to west. Calculate time by
advancing one day,

Those who cross the line from east
to west deduct one day.
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1. Chouri Choura incident
2. Integrated child development scheme

Can receive service with the help of
IT

Neednot wait in govt. offices for
service.

Nutritious food

Clean water

Medical facilities

Three fold hike on salt price
Heavy burden for the poor people

Two fifth portion of the income
collected by the British from salt tax.

Formulate govt. policies

Provide goods and services

Findout solutions to public issues
Ensure welfare of the people
Formed forward Bloc

Took the charge of INA

Formed Jhansi Regiment

Education

Health care

Training (Explain)

Non - cooperation movement

First National level struggle of
Gandhiji

Features - Boycott of foreign products
- Denial of taxes.

Constructive programmes

Quit India

Last popular protest of Gandhiji - 1942
British Quit India - Do or Die (Explain)
Hierarchical organisation
Permanence

Social Science

Answer Key

T - 15E

Appointment on the basis of
qualification

Political Neutrality

Professionalism (Explain)
Type-B

Quit India Movement

Union public service commission

state public service commission

Anti - British freely spread to the
nook and corner of the nation

Hindu muslim unity was intensited

E-governance is the use of
electronic  technology in
administration

All India Service
Central Service
State Service

Individuals take efforts to develop
their own skills

Family creates an environment for
the development of the potential of
individuals.

Nation provide necessary facilities
to people to develop their skills.

Formed forward Bloc
Took the charge of INA
Formed Jhansi Regiment
Hierarchical organisation
Permanence

Appointment on the basis of
qualification

Political Neutrality

Professionalism (Explain)
Education improves the skills of
people

Helps to scare better job and income
ICDS
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Social Science (T-15E) contd

Samagra shiksha Abhiyan

Right to Education (Explain)

Non - cooperation movement

First National level struggle of
Gandhiji

Features - Boycott of foreign
products - Denial of taxes.
Constructive programmes

Quit India

Last popular protest of Gandhiji -
1942

British Quit India - Do or Die
(Explain)
Type-C
President
Champaran Sathyagraha
Medical colleges
Community Health Care
Poorna Swaraj

To start Civil Disobediance
movement

Formulate govt. policies

Provide goods and services
Findout solutions to public issues
Ensure welfare of the people
Boycott of foreign product
Denial of taxes

Students shall boycott English
schools.

Central service - Indian Railway
service

State service - Sales tax

All India service - Indian Police
service

Betters the technological known -
how

Helps to secure better job and
income

Improves the standard of living
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Hierarchical organisation
Premanence

Appointment on the basis of
qualification

Political Neutrality

Professionalism (Explain)

Civil Disobediance movement
Proposals put forward by Gandhiji
To lift salt tax

To declare 50% tax relaxation for
farmers

Gandhiji selected salt is a powerful
weapon against the British

Quit India

Last popular protest of Gandhiji -
1942

British Quit India - Do or Die
(Explain)





